EECS122: Introductionto CommunicatiorNetworks

Homeawork 5
(6 points)

Due: 1999-Oct-01-Fr{in class)

Problem 1. (2 points) During IP reassemblyfragmentsare splicedtogetherif they all

have the samesourceaddressdestinationaddressandidentificationfields. Whatis the
maximumbit rateat which a particularsourcecansend576-bytedatagramso a particular
destinationwithout runningthe risk that fragmentsof differentdatagramswill be spliced
together?Assumethata packet might exist in the network for up to 60 secondsafterit is

sent,but nolonger

Problem 2. (2 points) Evenif the network is not congestedandthe sendingandrecev-
ing processesanwrite andreaddataarbitrarily fast,thereis alimit to thethroughputhat
TCPcanprovide. If theround-triptimeis 100ms,whatis the maximumrateatwhich user
data(not counting TCP andlower layer headers)an be transferred?(Hint: a proposed
methodto overcomethis limit is the“TCP window scaleoption”.)

Problem 3: chapter 4 problem 2. (2 points)



